
Cálculo A

Limites laterais

Calcule os limites laterais das funções dadas

1.

f(x) =


2 se x < 1

−1 se x = 1

−3 se x > 1

limx→1+ f(x), limx→1− f(x), limx→1 f(x)

2.

f(x) =

{
−2 se x < 0

2 se x ≥ 0

limx→0+ f(x), limx→0− f(x), limx→0 f(x)

3.

f(t) =

{
t + 4 se t ≤ −4

4− t se t > −4

limt→−4+ f(t), limt→−4− f(t), limt→−4 f(t)

4.

g(s) =

{
s + 3 se s ≤ −2

3− s se s > −2

lims→−2+ g(s), lims→−2− g(s), lims→−2 g(s)

5.

F (x) =

{
x2 se x ≤ 2

8− 2x se x > 2

limx→2+ F (x), limx→2− F (x), limx→2 F (x)

6.

h(x) =

{
2x + 1 se x < 3

10− x se x ≥ 3

limx→3+ h(x), limx→3− h(x), limx→3 h(x)

7.

g(r) =


2r + 3 se r < 1

2 se r = 1

7− 2r se r > 1

limr→1+ g(r), limr→1− g(r), limr→1 g(r)

8.

g(t) =


3 + t2 se t < −2

0 se t = −2

11− t2 se t > −2

limt→−2+ g(t), limt→−2− g(t), limt→−2 g(t)

9.

f(x) =


x2 − 4 se x < 2

4 se x = 2

4− x2 se x > 2

limx→2+ f(x), limx→2− f(x), limx→2 f(x)

10.

f(x) =


2x + 3 se x < 1

4 se x = 1

x2 + 2 se x > 1

limx→1+ f(x), limx→1− f(x), limx→1 f(x)

11. F (x) = |x− 5|
limx→5+ F (x), limx→5− F (x), limx→5 F (x)

12. f(x) = 3 + |2x− 4|
limx→2+ f(x), limx→2− f(x), limx→2 f(x)

13. G(x) = |2x− 3| − 4

limx→ 3
2
+ G(x), limx→ 3

2
− G(x), limx→ 3

2
G(x)

14.

F (x) =


|x− 1| se x < −1

0 se x = −1

|1− x| se x > −1

limx→−1+ F (x), limx→−1− F (x), limx→−1 F (x)

15. f(x) = |x|
x

limx→0+ f(x), limx→0− f(x), limx→0 f(x)

16. f(x) = 2
1
x

limx→0+ f(x), limx→0− f(x), limx→0 f(x),

limx→−∞ f(x), limx→∞ f(x)

17. f(x) = |x−3|
x−3

limx→3+ f(x), limx→3− f(x), limx→3 f(x)

Resposta

1. −3, 2,@
2. 2,−2,@



3. 8, 0,@
4. 5, 1,@
5. 4, 4, 4

6. 7, 7, 7

7. 5, 5, 5

8. 7, 7, 7

9. 0, 0, 0

10. 3, 5,@
11. 0, 0, 0

12. 3, 3, 3

13. −4,−4,−4

14. 2, 2, 2

15. 1,−1,@
16. +∞, 0,@, 1, 1
17. 1,−1,@


















